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ED–2063 

M. Com. (Previous) EXAMINATION, 2021 

(Compulsory) 

Paper Third 

ACCOUNTING FOR MANAGERIAL DECISIONS  

Time : Three Hours 

Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- izca/kdh; ys[kkfof/k dh ifjHkk”kk nhft,A ;g foŸkh; rFkk ykxr 

ys[kkfof/k ls fdl izdkj fHkUu gS \ O;kikj izca/k esa izca/kdh; 

ys[kkfof/k ls mi;ksfxrk le>kb,A 

Define Management Accounting. How does it differ from 

financial and cost Accounting ? Explain the utility of 

management accounting in Business Management ?  
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vFkok 

(Or) 

mŸkjnkf;Ro ys[kkadu ls vki D;k le>rs gSa \ mŸkjnkf;Ro 

dsUnzksa ds mís’;ksa ,oa fu/kkZjd rŸoksa dh foospuk dhft,A 

What do you mean by Responsibility Accounting ? 

Discuss the objectives and determinants of responsibility 

centres. 

bdkbZ&2 

(UNIT—2) 

2- ctV rFkk ctVjh fu;a=.k ls vki D;k le>rs gSa \ ctVjh 

fu;a=.k ds ykHk ,oa nks”kksa dks crkb,A 

What do you mean by Budget and Budgetary Control ? 

Discuss the advantages and disadvantages of Budgetary 

control ? 

vFkok 

(Or) 

,d fuekZ.kh laLFkk esa mRiknu {kerk 20000 bdkb;k¡ izfro”kZ gSaA 

,d vof/k ds fy, 10000 bdkb;ksa ds mRiknu ij ctVsM O;; 

uhps fn, x, gSa % 

fooj.k 
izfr bdkbZ 

(`) 

lkexzh 40 

etnwjh  ¼50% ifjorZu’khy½ 20 

fuekZ.kh O;;  ¼40% fLFkj½ 10 

iz’kklfud O;; ¼fLFkj iw.kZr%½ 05 

foØ; ,oa forj.k O;; ¼60% fLFkj½ 05 
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 P. T. O. 

dqy ykxr 80 

ykHk 20 

foØ; ewY; 100 

dk;Z ds 70% o 100% Lrj dks n’kkZus gsrq ,d yphyk ctV 

rS;kj dhft,A ;g vuqeku gS fd orZeku izfr bdkbZ foØ; ewY; 

dk;Z ds 60% rd leku jgsxkA mlds ckn dk;Z Lrj ds 90% 

rd mlesa 5% dh deh gksus dh vk’kk gSA 90%  ds Åij 

ek=k esa izR;sd 5% dh o`f) ij ewY; esa 2 %
2
1  dh deh gksus 

dh vk’kk gSA 

A manufacturing concern has the production capicity of 

20000 units per annum. The expenses Budgeted for 10000 

units for a period are listed a head : 

Particulars 
Per Unit 

(`) 

Materials 40 

Wages (50% variable) 20 

Manufacturing expenses (40% fixed) 10 

Administrative expenses (all fixed) 05 

Selling and distribution expenses (60% 

fixed) 

05 

Total Cost 80 

Profit 20 

Selling Price 100 

Prepare a flexible budget to show 70% and 100% levels 

of activity. It is expected that the present unit selling price 
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will remain constant upto 60% activity beyond which a 

5% reduction is contempted upto 90% activity level. 

Above 90% a 2 % reduction in original price is 

contemplated for every 5% increase in volume. 

bdkbZ&3 

(UNIT—3) 

3- lhekUr ykxr fof/k ls vki D;k le>rs gSa \ dEiuh fu.kZ;ksa esa 

;a= ds :i esa bldh mi;ksfxrk le>kb,A 

What do you understand by Marginal Costing ? State its 

usefulness as a tool for corporate decisions. 

vFkok 

(Or) 

fuEufyf[kr ls Kkr dhft, % 

(i) ykHk ek=k vuqikr 

(ii) le&foPNsn fcUnq 

(iii) ` 10]00]000 dh fcØh ij ykHk 

(iv) ` 12]00]000 dh fcØh ij lqj{kk dh lhek 

(v) ` 2]00]000 dk ykHk vftZr djus ds fy, 

 ` 

foØ; 8,00,000 

?kVk;h % ifjorZu’khy ykxr 6,00,000 

va’knku 2,00,000 

?kVk;h % fLFkr ykxr 60,000 

‘kq) ykHk 1,40,000 

From the following find out : 

(i) P/V Ratio 
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(ii) B. E. P. 

(iii) Profit for the Sale of ` 10,00,000 

(iv) Margin of Safety from the Sale of ` 12,00,000 

(v) To do earn profit ` 2,00,000 

 ` 

Sales 8,00,000 

– Variable cost 6,00,000 

   Contribution 2,00,000 

– Fixed Cost 60,000 

Net profit 1,40,000 

bdkbZ&4 

(UNIT—4) 

4- dks”k izokg fooj.k ls vki D;k le>rs gSa \ ;g fdl izdkj 

rS;kj fd;k tkrk gS \ bldh D;k lhek,¡ gSa \ 

What do you understand by Fund Flow Statement ? How 

is it prepared ? What are its limitations ? 

vFkok 

(Or) 

fuEufyf[kr lwpuk ls jksdM+ izokg fooj.k i= rS;kj dhft, % 

  ` 

(i) izkjafHkd jksdM+ ‘ks”k 4,50,000 

(ii) vafre jksdM+ ‘ks”k 88,800 

(iii) o”kZ dk ‘kq) ykHk 1,00,000 

(iv) nh?kZdkyhu _.kksa dk Hkqxrku 15,00,000 
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(v) LFkk;h lEifŸk;ksa dk foØ; 9,00,000 

(vi) nsunkjksa esa o`f) 40,500 

(vii) ysunkjksa esa deh 28,700 

(viii) LdU/k esa deh 2,40,000 

(ix) xSj&lapkyu O;; 1,25,000 

(x) xSj&lapkyu vk; 30,000 

(xi) vk;dj dk Hkqxru 1,27,000 

Prepare Cash flow statement from the following 

information : 

  ` 

(i) Opening Cash balance 4,50,000 

(ii) Closing Cash balance 88,800 

(iii) Net Profit for the year 1,00,000 

(iv) Re-payment of long term loan 15,00,000 

(v) Sale of fixed Assets 9,00,000 

(vi) Increase in Debtors 40,500 

(vii) Decrease in Creditors 28,700 

(viii) Decrease in Stock 2,40,000 

(ix) Non-operating expenses 1,25,000 

(x) Non-operating income 30,000 

(xi) Income Tax paid 1,27,000 
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bdkbZ&5 

(UNIT—5) 

5- izcU/k gsrq ,d vPNh fjiksVZ ¼izfrosnu½ dh eq[; fo’ks”krk,¡ D;k 

gS \ fu;a=.k fjiksVZ ,oa lwpuk fjiksVZ esa vUrj Li”V dhft,A 

What are the essential characteristics of a good report for 

management ? Distinguish between a control report and 

information report. 

vFkok 

(Or) 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) y{; ifjO;kadu 

(ii) fØ;k ij vk/kkfjr ifjO;kadu 

Write short notes on the following : 

(i) Target costing 

(ii) Activity based costing 
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